# FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Unrestricted Line Zone Statistics RADM ROBERT T. CLARK, President

	Above Zone Elg Sel Pct		Zone	In Zone			Below Zone			Total		
Desig	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct	
1105	2	0	0.00	14	0	0.00	72	0	0.00	0	0.00	
1115	27	5	18.52	151	101	66.89	342	20	5.85	126	83.44	
1125	18	2	11.11	157	112	71.34	122	10	8.20	124	78.98	
1135	2	0	0.00	8	6	75.00	14	1	7.14	7	87.50	
1145	0	0	0.00	5	4	80.00	0	0	0.00	4	80.00	
1165	0	0	0.00	0	0	0.00	5	0	0.00	0	0.00	
1175	0	0	0.00	0	0	0.00	3	0	0.00	0	0.00	
1305	4	0	0.00	11	10	90.91	3	0	0.00	10	90.91	
1315	2	2	100.00	66	60	90.91	5	2	40.00	64	96.97	
1325	0	0	0.00	27	25	92.59	6	2	33.33	27	100.00	
1395	0	0	0.00	0	0	0.00	2	0	0.00	0	0.00	
1945	3	0	0.00	2	0	0.00	37	0	0.00	0	0.00	
Total	58	9	15.52	441	318	72.11	611	35	5.73	362	82.09	

## FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Unrestricted Line (TAR) Zone Statistics

## RADM ROBERT T. CLARK, President

	I	Above	Zone	In Zone			Below Zone			Total	
Desig	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct
1117	3	1	33.33	8	5	62.50	7	0	0.00	6	75.00
1127	0	0	0.00	0	0	0.00	1	0	0.00	0	0.00
1137	0	0	0.00	2	2	100.00	0	0	0.00	2	100.00
1317	0	0	0.00	3	3	100.00	0	0	0.00	3	100.00
1327	1	1	100.00	3	3	100.00	2	1	50.00	5	166.67
Total	4	2	50.00	16	13	81.25	10	1	10.00	16	100.00

## FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Special Duty Officer (Human Resources) Zone Statistics

## RADM KENNETH R. BLACKMON, President

	I	Above 2	Zone		In Zo	one	1	Below 2	Zone	T	otal
Desig	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct
1205	10	2	20.00	19	5	26.32	45	0	0.00	7	36.84
1225	0	0	0.00	0	0	0.00	1	0	0.00	0	0.00
Total	10	2	20.00	19	5	26.32	46	0	0.00	7	36.84

#### FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Special Duty Officer (Permanent Professional Recruiter TAR) Zone Statistics

## RADM KENNETH R. BLACKMON, President

	1	Zone	In Zone			I	Below 2	Te	otal		
Desig	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct
1287	0	0	0.00	5	5	100.00	0	0	0.00	5	100.00
Total	0	0	0.00	5	5	100.00	0	0	0.00	5	100.00

#### FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Special Duty Officer (Human Resources) (TAR) Zone Statistics

## RADM KENNETH R. BLACKMON, President

	A	Above Zone		In Zone			I	Below 2	Zone	Total		
Desig	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct	
1207	10	3	30.00	10	6	60.00	15	0	0.00	9	90.00	
Total	10	3	30.00	10	6	60.00	15	0	0.00	9	90.00	

### FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Engineering Duty Officer Zone Statistics RADM KENNETH R. BLACKMON, President

	I	Above	Zone		In Zo	one	1	Below 2	Zone	T	otal
Desig	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct
1445	19	11	57.89	23	8	34.78	48	0	0.00	19	82.61
1465	0	0	0.00	5	1	20.00	7	0	0.00	1	20.00
Total	19	11	57.89	28	9	32.14	55	0	0.00	20	71.43

## FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Aerospace Engineering Duty Officer (Engineering) Zone Statistics

## RADM KENNETH R. BLACKMON, President

	A	Above 2	Zone		In Zo	one	1	Below 2	Zone	To	otal
Desig	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct
1515	9	1	11.11	5	2	40.00	12	0	0.00	3	60.00
Total	9	1	11.11	5	2	40.00	12	0	0.00	3	60.00

## FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Aerospace Engineering Duty Officer (Maintenance) Zone Statistics

## RADM KENNETH R. BLACKMON, President

	A	Zone		In Zone			Below 2	Zone	Te	otal	
Desig	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct
1525	8	2	25.00	9	2	22.22	16	1	6.25	5	55.56
Total	8	2	25.00	9	2	22.22	16	1	6.25	5	55.56

## FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Aerospace Engineering Duty Officer (Maintenance) (TAR) Zone Statistics

## RADM KENNETH R. BLACKMON, President

	A	Above 2	Zone		In Zo	one	I	Below 2	Zone	To	otal
Desig	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct
1527	5	1	20.00	10	4	40.00	8	1	12.50	6	60.00
Total	5	1	20.00	10	4	40.00	8	1	12.50	6	60.00

## FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Special Duty Officer (Public Affairs) Zone Statistics

## RADM KENNETH R. BLACKMON, President

	A	Above Zone			In Zo	one	Below Zone			Te	otal
Desig	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct
1655	15	5	33.33	8	1	12.50	16	0	0.00	6	75.00
Total	15	5	33.33	8	1	12.50	16	0	0.00	6	75.00

## FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Special Duty Officer (Strategic Sealift Officer) Zone Statistics

## RADM KENNETH R. BLACKMON, President

	A	Above Zone			In Zo	ne	ne Below Zone			Total		
Desig	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct	
1665	194	13	6.70	191	14	7.33	368	2	0.54	29	15.18	
Total	194	13	6.70	191	14	7.33	368	2	0.54	29	15.18	

## FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Special Duty Officer (Oceanography) Zone Statistics

## RADM KENNETH R. BLACKMON, President

	A	Above Zone			In Zo	ne	I	Below 2	To	otal	
Desig	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct
1805	2	0	0.00	6	5	83.33	8	0	0.00	5	83.33
Total	2	0	0.00	6	5	83.33	8	0	0.00	5	83.33

## FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Special Duty Officer (Cryptologic Warfare) Zone Statistics

## RADM KENNETH R. BLACKMON, President

	Above Zone			In Zone			Below Zone			Total	
Desig	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct
1815	5	2	40.00	27	14	51.85	41	2	4.88	18	66.67
Total	5	2	40.00	27	14	51.85	41	2	4.88	18	66.67

#### FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Special Duty Officer (Information Professional) Zone Statistics

## RADM KENNETH R. BLACKMON, President

Desig	A	Above Zone			In Zone			Below Zone			Total	
	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct	
1825	3	0	0.00	17	8	47.06	36	1	2.78	9	52.94	
Total	3	0	0.00	17	8	47.06	36	1	2.78	9	52.94	

## FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Special Duty Officer (Intelligence) Zone Statistics

## RADM KENNETH R. BLACKMON, President

	Above Zone			In Zone			Below Zone			Total	
Desig	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct
1835	64	19	29.69	75	35	46.67	190	2	1.05	56	74.67
Total	64	19	29.69	75	35	46.67	190	2	1.05	56	74.67

## FY-25 Navy Reserve Lieutenant Commander Line Promotion Selection Board Limited Duty Officer (Line) Zone Statistics RADM ROBERT T. CLARK, President

## Overall Statistics

Desig	A	Above Zone			In Zone			Below Zone			Total	
	Elg	Sel	Pct	Elg	Sel	Pct	Elg	Sel	Pct	Sel	Pct	
6235	0	0	0.00	0	0	0.00	1	0	0.00	0	0.00	
6285	0	0	0.00	2	2	100.00	1	0	0.00	2	100.00	
6335	0	0	0.00	1	1	100.00	0	0	0.00	1	100.00	
6415	0	0	0.00	2	1	50.00	5	0	0.00	1	50.00	

7

0

0

11

53.85

0.00

0.00

57.89

19

0

5

31

1

0

0

1

5.26

0.00

0.00

3.23

9

0

69.23

0.00

1 100.00

14 73.68

13

0

1

19

6495

6825

6835

Total

4

1

1

0

1

2

25.00

0.00

50.00

28.57